Pat has 3 sweets. Dom has 2
sweets. Who has more?

Josh has 5 apples. Jon has 2
apples. How many apples do

they have altogether?

How many sides does a
square have?

There are 78 people in a swimming
pool. 23 get out and 64 go in. How
many people are there in the pool
now?

Fia knows that a clock is 20 minutes

slow. The clock shows the time as
08:55. What is the real time?

Lilly buys eight packs of toilet rolls.
Each pack holds 12 rolls. How
many toilet rolls does she have
altogether?
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Terri ate 6 chocolates and had 3
left. How many chocolates did
she have at the start?

Bren had 10 apples and gave half
away. How many does she have
now?

Helen had 3 dolls. Her mum
bought her 5 more at the car boot
sale. How many dolls does Helen
have now?

Greg weighs 39.6kg and Nichola
weighs 64.9kg. How much more
does Nichola weigh?

Dev has read 54 pages of his book.
He needs to read 19 more pages to
reach half way. How many pages
long is his book?

A 500g pack of chicken contains 4
pieces of chicken, How much does
eat piece weigh?

classroomsecrets.com
Word Problems — Taster

Fiona set off to school at 8 o’clock
and arrived half an hour later.
What time did she arrive?

If today is Monday, what day will
it be in 5 days’ time?

Gary planted 18 courgette plants
in three rows. How many
courgette plants were in each
row?

Two gallons is 9.1 litres. What is
9 gallons in litres?

The perimeter of a square field is
280m. What is its area?

A slug travels 6cm in 1 minute.
How far can it travel in 1 hour?



Pat has 3 sweets. Dom has 2
sweets. Who has more? Pat

Josh has 5 apples. Jon has 2
apples. How many apples do

they have altogether? 7

How many sides does a
square have? 4

There are 78 people in a swimming
pool. 23 get out and 64 go in. How
many people are there in the pool
now? 119

Fia knows that a clock is 20 minutes
slow. The clock shows the time as
08:55. What is the real time?

09:15

Lilly buys eight packs of toilet rolls.
Each pack holds 12 rolls. How
many toilet rolls does she have
altogether? 96
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Terri ate 6 chocolates and had 3
left. How many chocolates did
she have at the start? 9

Bren had 10 apples and gave half
away. How many does she have
now? 5

Helen had 3 dolls. Her mum
bought her 5 more at the car boot
sale. How many dolls does Helen
have now? 8

Greg weighs 39.6kg and Nichola
weighs 64.9kg. How much more
does Nichola weigh? 25.3kg

Dev has read 54 pages of his book.
He needs to read 19 more pages to

reach half way. How many pages
long is his book? 146

A 500g pack of chicken contains 4
pieces of chicken, How much does
eat piece weigh? 125¢
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Fiona set off to school at 8 o’clock
and arrived half an hour later.
What time did she arrive?

8:30am or half past 8.

If today is Monday, what day will
it be in 5 days’ time? Saturday

Gary planted 18 courgette plants
in three rows. How many
courgette plants were in each
row? 6

Two gallons is 9.1 litres. What is
9 gallons in litres? 40.951

The perimeter of a square field is
280m. What is its area? 4900m?

A slug travels 6cm in 1 minute.
How far can it travel in 1 hour?

3.6m



